Clubmeisterschaften

Par

1. RD

10

12

13

16

18

HERREN
Retana Bronte Guillermo
Mathis Kevin
Fink Julius
Hepberger Lucas
Neudorfer Tristan
Frei Noah
Bickel Clemens
Loretz Andreas
Jager Anton
Kopf Wolfgang
Pichler Florian
Gantner Joachim
Meyer Karl Heinz
Kathan Gerard
Rischer Wolfgang
Fuchs Alfred
Strudl Mario
Muster Manfred
Schett Friedrich
Metzler Andreas

Rotheneder Thomas
Miglitsch Markus
Nachbaur Bernd
Heikkinen Paavo
Beutel Klaus
Thurnherr Moreno
Knobel Martin

Frei Christian

Matt Wolfgang
Moser Hans-Karl
Neudorfer Thomas
Schnaitl Gerald
Wiirbel Karlheinz
Tschofen Wolfgang
Taucher Mario
Bechtold Dietmar
Braun Johannes
Nitschmann Stefan
Hartenberger Lukas
Klemenc Justin
Miller Axel
Chromy Peter
Hefel David
Bechter Erwin
Giinther Gerhard
Dorn Manfred
Pichler Henrik
Loacker Karl
Menning Hans-Peter
Nachbauer Norbert
Frei Francesco
Walch Tim

Marte Gabriel
Baumgartner Helmut
Fehr Dietmar
Plocher Elmar
Wollhaupt Roger
Kobler Markus
Hepberger Ronald
Rist Norbert

Bolt Christoph
Grabher Gerd

Wild Arno

Fehr Hannes
Speckle Hermann
Hammerle Simon
Peter Rene
Kremser Wolfgang
Fréhle Karl

Loser Anton

Artner Wolfgang
Mahr Wolfgang
Huber Alexander

DAMEN
Hossl Maria
Langes Vanessa
Loretz Dagmar
Kopf Kristina
Bonner Maria Luise
Steinborn Kirsten
Fulterer Dominique
Ladstéatter Kornelia
Haberer Sarah
Kremser Renate
Jenny Anita
Berner Liselotte
Visagie Blanche
Mdller Gabriele
Loser Carmen
Stroj Hildegard
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